) V=SuZiHiat

WEEY S8 =71 R-2AS O-SEE W BHE— A M fhd &
TR RA—RB= —F-
I [ | PL 3
P R -4 MC=—1 __PL
. I, - QA=—0B=— 2 5C=—zg
e c - W=p
Al RE:
& “— l RA=QA= -0
| | | -
P _ . Pa MC= Pab _ _Pa*b
3 l = || e L 8C=—3mr
-l‘-"i i .& =F|
HA 2r]
I _ 23pL2
[ —a A I RA=RB=P Smax= —Sem
For QA=—0B=P MC=-5- =Mmax (14D )
A B 5pL3
& G c -y i R o S
. = W=2p BC=—rrs
I U2 _ta_ Ld_ UA I BA=RBE= %
P P P SP- - PL 2 igpl_!
s P ; QA=—0B=—5- Mo 8C= —ap4E]
o R - W=3p
HA ke b
I |_-'£.I usl :EI L.'5I J-LI RA=RBE=2P .
_ B3pPU
L O QA=—QB=2P mD=2E —mmax Smax= —proeT
A 5 27 | weap (iFHop k)
(=]} Fa
I = D z I RA=RB=P Smax= EZEF (3L2—4a2)
¥ I QA=—0B=P Mmax=Pa (i2Joch s 28)
= B 2
AL G T A W=2p 5C= %:3!.—4&:}
(=1} 2]
| | RA=RB= WL
W 2'IvI'L wl 2 Smax= _SwL®
QA=—0B=-"7— Mmax=—g— (RUDHRE) =]
= 2] ‘;—Um
&LLI_LLI_LI_I_LLI_I_I_I_LLI_LLIﬂ _— (VO saf)
=11 RE
= 0 2 | RA=Rp— W22} m=1— 22 x|,
2 wiLZ—4aZ) L
I ! W I l Mmax=——pg
[ ——qp=W{L23) =ML a2
AE 2.8 i~ 2 (i8R Smax= g o (Bm—4m “+m )
= o W=wiL—2a) (20 Ty =)
| l | : | RA= W(L—a®) mo—— w22 wal  wla ., 5
" GEaa Y 2 . 5C=gg * g " -L%)
[T ] i B ;
An A A 12 _g2 =383 16El
D] L2l Oxi=RA—w-x1 Qx2=w-x2 BL xo=—7— (ABMc225)
8 L b _ wiatl)?—wb? wa? Swi'  (MA+MB)LZ
[ wo | e oL MA=——5 S0=9Er—— 10
CTTTTTITTTTTITTITT] wib+L) 2—wa 2 _ - wh? _ _wat
c== 0 RE= e MB=— 2 5= —9A-a
i AE QA=RA—wa OQB=wb—AB A N z _ e S
[ P Mx=RA-x— —-{a+x) (Bl BA=meril?—4a?-2b7)

EEEE S B R-EA86D O-SFE W sFE—A M ch# &
L
I I RE=P
3
;I,F' OB=—p MB=—PL EEI
n
3| =
{25t]
L
I - b I AE=P14P2
P o) ol g P P2bE o
J, ) Bg QB=—(P1+P2) MB=—(P1L+P2D) e+ e aLb)
W=P1+P2
=E
L
I 8 : b I RAE=P
P oB=—Fp MB=—Pb —Pb . 3a
. !' g SA=—rm 1+ o)
B W=p
2B
L
I I AB=wl
W MB=— w2 wi?
Eg W=wL
2:2]
L wl
| | FIEI:——E
L . _wLf wL!
ﬂ aa— ua—— -4 e
A
B We wl
ma 2
[ | L | RA=04 5 = pL3
|- S B ¥~ S P == —— 3 T =
ip ur‘ | e 1 P'IE- ME=—EPI_ amax= 4E.r5 El
- 5 7PLa
; : —mE=—2 3D=3E=
4 D 8B E & OBD=—0BE=— %p MD=ME=—7PL TEAEI
1 HA RC
L L i
[Cra s a]wa e 7a) RA=0OA= % MB=—-PL
1 | | a
poge T a8 —MG= —2- —5E=_1TL2
) 1!' | ,!. L . RB= —-F : MD=MG=—5-PL 3D=3G=— 0
L 0 Eph F g & OBD=—0BE=— —FP 1
ik h a5t 9 ME=MF= 3 PL
. - RA=QA= — MB=— —-wL?
[ | | e ~— B wl a2 W wlt
" 5 Smax="yacF]
RAB=——wL )
(HINRNNRNERNIRNRNRRNR 4 MO=ME= —— w2 VR L =T
AR ) 2 QBD——0BE= -2 wi. ey _ = "
A A\ AC ] (x=3/BL T}
I I
L W=wL
|||||||||||||||||||||B W o
e i 5 I T oo e
- HA:%;,&“Q g MaX= "3B4EI{cosB P
4 aa=a= ¥ cosa—va
'ﬁ' 2
T
Hipga
R’n'l.".ﬁ.




